RED 00'(#
R <
<

OVERHEAD MOLLE PANEL

(1997-2006 WRANGLER TJ)

INSTALLATION INSTRUCTIONS

CONTENTS TOOLS REQUIRED

(1) Overhead Molle Panel 4mm Allen Key
(2) Roll Bar Clamps 10mm Wrench
(2) ‘T’ Brackets

(2) Flat Brackets

(4) Rubber Insulators
(4) M6 x 50mm Bolts
(4) M6 x 15mm Bolts
(4) M6 Flat Washers
(4)

4) M6 Flange Nuts
SKU # J164245



’
REDROCK:
z

STEP1

Relocate the cargo area roll bar padding. Mount the (1) ‘T’ bracket to the roll bar using (1) roll bar
clamp, (1) flat bracket, (2) M6 x 50mm bolts, and (2) M6 flat washers.

Repeat this step for the opposite side of the vehicle.

STEP 2

Lift the overhead molle panel over the ‘T’ brackets, then secure to the molle panel to the ‘T’ brackets
using (2) M6 x 15mm bolts and (2) M6 flange nuts per side.



<
x
F

REDROCK

STEP 3

Installation is now complete.



	J164245 - RedRock 4x4 - Overhead Molle Panel (97-06 TJ)-01
	J164245 - RedRock 4x4 - Overhead Molle Panel (97-06 TJ)-02
	J164245 - RedRock 4x4 - Overhead Molle Panel (97-06 TJ)-03

